
Оɵвеɵɾ, ɭɳаɵɭɫе ɳеɻеɰɫʂ ɫ ɭɳɫɵеɳɫɫ ɱɹеɰɫваɰɫʂ Мɶɰɫɹɫɲаɮɿɰɾɬ ʀɵаɲ

ˀ˟˛ˤ˚˒˚˕˒ ˜˛ ˔ˍˑˍˤ˒ 10.2:

˃ˢˠ˜ˠˢ ˦ˤ˔˙˞˦ˢˤ˜˜, ˤ˔˥˥ˠˢ˦ˤ˙ˡˡˢ˝ ˖ ˔˖˦ˢˤ˥˞ˢˠ ˤ˙ˬ˙ˡ˜˜, ˥˧˭˙˥˦˖˧˙˦ ˙˭ё ˢ˘ˡ˔ ˖ˢ˛ˠˢ˚ˡˢ˥˦˰ ˦˙˟˧ ˣˢ˥˟˙ ˙˘˜ˡ-

˥˦˖˙ˡˡˢ˗ˢ ˢ˦˥˞ˢ˞˔ ˣˢˣ˔˥˦˰ ˏ ˣˤˢ˦˜˖ˢˣˢ˟ˢ˚ˡ˯˝ ˞ˤ˔˝ ˳ˠ˯ (˥ˠ. ˤ˜˥.).
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ʶ ˧˥˟ˢ˖˜˜ ˛˔˘˔˫˜ ˦ˤ˙˕˧˙˦˥˳ ˡ˔˝˦˜ ˗˟˧˕˜ˡ˧ ˳ˠ˯ � , ˣˤ˜ ˞ˢ˦ˢˤˢ˝ ˦˙˟ˢ «˥ˡˢ˖˔ ˣˢˣ˔˘ё˦ ˚ˍ ˙ё ˣˤˢ˦˜˖ˢˣˢ˟ˢ˚ˡ˯˝

˞ˤ˔˝», ˔ ˡ˙ «ˏ ˞ˤ˔˝». ˃ˢ˱˦ˢˠ˧, ˫˦ˢ˕˯ ˡ˙ ˖˘˔˖˔˦˰˥˳ ˥ ˧˫˔˭˜ˠ˜˥˳ ˖ ˨˜˟ˢ˟ˢ˗˜˫˙˥˞˜˙ ˘˜˥˞˧˥˥˜˜, ˛˔˘˔˫˔ ˘ˢ˟˚ˡ˔

ˢ˪˙ˡ˜˖˔˦˰˥˳ ˥˟˙˘˧˲˭˜ˠ ˢ˕ˤ˔˛ˢˠ:

1) ʹ˥˟˜ ˧˫˔˭˜˝˥˳ ˤ˔˥˥ˠˢ˦ˤ˙˟ ˦ˢ˟˰˞ˢ ˔˖˦ˢˤ˥˞˜˝ ˖˔ˤ˜˔ˡ˦ ˦ˤ˔˙˞˦ˢˤ˜˜ ˦˙˟˔, ˚˲ˤ˜ ˜˥ˣˢ˟˰˛˧˙˦ ˜˥˩ˢ˘ˡ˯˙ ˞ˤ˜˦˙ˤ˜˜.

2) ʹ˥˟˜ ˧˫˔˭˜˝˥˳ ˤ˔˥˥ˠˢ˦ˤ˙˟ ˦ˢ˟˰˞ˢ ˖˦ˢˤˢ˝ ˖˔ˤ˜˔ˡ˦, ˢˡ ˢ˪˙ˡ˜˖˔˙˦˥˳ ˥ˢ˗˟˔˥ˡˢ ˞ˤ˜˦˙ˤ˜˳ˠ, ˣˤ˜˖˙˘ёˡˡ˯ˠ ˡ˜˚˙.

3) ʹ˥˟˜ ˧˫˔˭˜˝˥˳ ˤ˔˥˥ˠˢ˦ˤ˙˟ ˢ˕˔ ˖˔ˤ˜˔ˡ˦˔, ˢ˪˙ˡ˜˖˔˙˦˥˳ ˟˧˫ˬ˜˝.

К˝ˍ˟˗˛˒ ˝˒˥˒˚˕˒ ˑ˘я ˏ˟˛˝˛ː˛ ˞˘ˠˤˍя:

˃˧˥˦˰ ৘1 ˜ ৘2 — ˖ˤ˙ˠ˙ˡ˔ ˘˖˜˚˙ˡ˜˳ ˦˙˟˔ ˘ˢ ˜ ˣˢ˥˟˙ ˢ˦˥˞ˢ˞˔ ˥ˢˢ˦˖˙˦˥˦˖˙ˡˡˢ, ˔ ৚ —ˡ˔˫˔˟˰ˡ˔˳ ˥˞ˢˤˢ˥˦˰ ˦˙˟˔. ˆˢ˗˘˔

ষ = 2৚2 sin � cos �
� ⇒ ৚ = √ �ষ

2 sin � cos � ,

ষ = ৚
3 ⋅ (৘1 + ৘2) cos �, − � = ৚

3 ⋅ ৘1 sin � − �৘212 , − � = −৚
3 ⋅ ৘2 sin � − �৘222 .

Кˢˠ˕˜ˡ˜ˤ˧˳ ˡ˔˝˘˙ˡˡ˯˙ ˖˯ˤ˔˚˙ˡ˜˳, ˣˢ˟˧˫˜ˠ

৘1 + ৘2 = 6৚ sin �
� , ৘1 − ৘2 = 2৚ sin �

3� ⇒ ৘1 = 10৚ sin �
3� , ৘2 = 8৚ sin �

3� .
˂˦˥˲˘˔

� = −৚
3 ⋅ ৘1 sin � + �৘212 = −10৚2 sin2 �

9� + �
2 ⋅ 100৚2 sin�

9�2 = 40৚2 sin2 �
9� = 20ষ

9 tg �.
К˝˕˟˒˝˕˕:

5) З˔ˣ˜˥˔ˡ˔ ˨ˢˤˠ˧˟˔ ষ = 2৚2 sin � cos �/� ˜˟˜ ˙ё ˔ˡ˔˟ˢ˗ . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 1 ˕˔˟˟

6) З˔ˣ˜˥˔ˡ˔ ˨ˢˤˠ˧˟˔ ষ = ৚(৘1 + ৘2) cos �/3 ˜˟˜ ˙ё ˔ˡ˔˟ˢ˗ . . . . . . . . . . . . . . . . . . . . . . . . . . . . 3 ˕˔˟˟˔

7) З˔ˣ˜˥˔ˡ˔ ˨ˢˤˠ˧˟˔ −� = ৚
3 ⋅ ৘1 sin � − �৘212 ˜˟˜ ˙ё ˔ˡ˔˟ˢ˗ . . . . . . . . . . . . . . . . . . . . . . . . . . . 1,5 ˕˔˟˟˔

8) З˔ˣ˜˥˔ˡ˔ ˨ˢˤˠ˧˟˔ −� = − ৚
3 ⋅ ৘2 sin � − �৘222 ˜˟˜ ˙ё ˔ˡ˔˟ˢ˗ . . . . . . . . . . . . . . . . . . . . . . . . . . 1,5 ˕˔˟˟˔

9) ˁ˔˝˘˙ˡˢ, ˫˦ˢ � = 20ষ tg �/9 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 3 ˕˔˟˟˔


